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There are 30 questions in all in this Part. All questions are compulsory.
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A map/chart formed by systemizing and relating the concepts learnt in a particular
portion of a lesson -

A) Concept map é) Flow chart
C) Overlapping chart P) Mind map
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To help the students understand various concepts, the teacher explaining concepts
should

A) Start from unknown concepts to known concepts
B) Start from complex concepts to simple concepts
C) Teach at different times similar concepts that lead to confusion

rD) Start from abstract concepts to concrete concepts
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The psychological factor helpful for learning is
A) Classroom climate B) Family
C) Skill D) Physical health
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The satellite used for telecasting educational programme is
A) Apple B) Aryabhata C) Insat—1 D) Chandrayan
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In the constructivist perspective, learning is not related to
A) Connecting new ideas to the existing ideas
B) Constructing own knowledge by connecting new ideas to existing ideas

C) Constructing own knowledge, with more emphasis on new ideas

D) Constructing own knowledge without connecting existing knowledge
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Myelin Sheath is made up of

A) Proteins only B) Proteins and lipids

C) Lipids only D) Carbohydrates and lipids




W s I . W TNTET -1
7. Gyhossaller s L aanids) e1is awHe L& 2 G051 1L_GB6 sneniliL B Sy
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Physical growth in children is at the maximum rate at the age of

A) 0-2yrs. B) 2-6yrs.

C) 6-12yrs. D) 12-19yrs.
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The word Adolescence means

A) To develop B) Tocreate

C) To think D) To grow

9. QupGpmiserme seot_ 1y 6s Geuessmig.w epaim'A' s

A) Accenpt, Affectionate, Appreciate

B) Acecept, Adjust, Appreciate

C) Accept, Adjust, Analyse

D) Accept, Assist, Appreciate

Three 'A's to be followed by parents

A) Accept, Affectionate, Appreciate

B) Accept, Adjust, Appreciate

C) Accept, Adjust, Analyse

D) Accept, Assist, Appreciate
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Love, envy and pity are _____ categories of emotions.
A) Primary goal oriented emotions
B) Emotions triggered by sensory simulation

C) Emotions related to others

D) Emotions pertaining to self appraisal
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A teacher asks students "what might be the questions if answer is '8' ? " It is

A) Teaching for construction of knowledge

B) Testing arithmetic knowledge
C) Teaching for application of knowledge
D) Teaching for examination
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'Man invented aeroplane after watching birds'. Which of the following is closely related
to the statement ?

A) Operant conditioning B) Negative transfer of learning

C) Learning to learn _ D) Meta cognition
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What is the expansion of C.C.E. ?

A) Continuous and Comprehensive Education

B) Continuous and Comprehensive Evaluation
C) Cognitive and Complex Evaluation
D) Cognitive and Constructivist Education
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One of the techniques followed by teachers to test the creativity of students

A) Brain-storming

B) . Brain-forming
C) Brain-washing
D) Brain-drain
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A) 1958, November 20 B) 1959, November 20
C) 1958, December 20 D) 1959, December 20

“Itis the prime duty of the human race to give the best to children” was propagated by
the UNO in the year

A) 1958, November 20 B) 1959, November 20
C) 1958, December 20 D) 1959, December 20
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The attitude of a male child being affectionate towards the mother than his father is
known as

A) Complex B) Oedipus complex

C) Electra complex D) Inferior complex
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The psychologist who had the idea that children perform better as they grow older

A) J.M.C. Cattell B) Alfred Binet

C) Sir Francis Galton | D) Woodworth
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Teacher should use one of the following to draw the attention of children more quickly
A) Real objects
B) Colourful~objects

C) Colourful pictures

D) Moving objects
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The thinking of the scientists is an example for

A) Concrete Thinking B) Abstract Thinking

C) Creative Thinking D) Reflective Thinking
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One of the following should be given to students for social development

A) Academic activity : B) Evaluation activity

C) Home activity : D) Co-curricular activity
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The method which provides more opportunity for children to interact with peer groups
and teachers

A) Gurukula Kalvi Method
B) Lecture Method
C) Ancient Method

D) Activity Based Learning Method
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The report which says "Four types of learning ability may be developed through school

education"

A) Tellarce Report

B) Kothari Report
C) Radhakrishnan Report
D) New Education Policy Report
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D) wda wpmib sewr_ener a9)s)

The Law of Effectis also called
A) The Law of Exercise

B) The Law of Readiness

C) The Law of Assimilation

D) The Law of Reward and Punishment
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Opening a door by a child using proper process of unlocking is an example of which

type of learning ?

A) Problem solving

C) S-Rlearning

B) Insight learning
D) Motor-chain learning
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Which one of the following educational implications does not fit the 'Operant
Conditioning' ?

A) The teacher can modify the'behaviour of the learner by changing the environment

B) The teacher can shape a desired behaviour by reward

C) Theteacher should considerthe ability of the students before giving them problems

D) The subject matter should be divided into small segments

Ghmpse, QuAGuriseear O /ikg uw Gadalamard Goul@ pdediiug
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Asking number of questions and annoying the elders by children shows the

A) Ignorance

B) Emotion of wonder

C) Emotlon of confuslon

D) Emotion of annoyance
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Emotional development during childhood is more susceptible to the influence of
A) Parents B) Family members
C) Friends D) Teachers
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Main role in moral development is |
A) Attitude B) .. Conscience
C) Mental ability D) Feelings
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Integrated personality is described as unique adjustment of individual's interests,
expectation and opinions regarding his external world and one's feelings about himself

- A) John Dewey B) Erickson C) Hurlock D) Gardner
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C) leys s mes D) paGeripssd

At present the society expects that school education may develop
A) Thinking B) Generosity
C) Cognitive ability D) Moral values
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PART -1l
ENGLISH

There are 30 questions in all in this Part. All questions are compulsory.

~61. The mills of God grind slow sure.
A) and B) but C) that D) if

62. The number of syllables in the word 'ecological’ is
A) Four B) Six C) Three D) Five

Fill in the blanks by choosing the right options given along with each question. -
63. Supply the suitable question tag.

Plants give out oxygen during the day ?
A) do they [B) don'tthey
C) did they D) didn't they

64, Supply a suitable suffix for the given word.
Sheep '
A) ity B) ness C) ish D) ism

85. Fill in the blank with suitable homophone.
The police controlled the _
A) " right B)  riot C) write D) rite

66. Supply the suitable relative pronoun.. ;
| stayed with my grandmother cooking was the best in the world.
A) What B) Whom C) Who D) Whose

67. Which of the following sentences given below conveys the following meaning ? .
"Sarojini Naldu was a renowned poetess"

A) Sarojini Naidu was an infamous poetess
B) Sarojini Naldu was a notorlous poetess

C) Sarojini Naidu was a famous poetess
D) Sarojini Naldu was an ill-famed poetess




"68.

69.

70.

71.

72.

Find out the animal(s) which make the sound 'squeak.
A) Guinea pigs |

B) Hamsters

C) Tapirs

D) All of the above animals

The troops arrived at the crack of the dawn.
The above sentence means

A) The troops were slow

B) The troops arrived very early in the morning

C) The troops arrived in the evening

D) The troops are defeated

Pick out the right spelling from the following.
A) monolitic

B) monalithic

C) monolithic

D) monolithik

Which of the following options means "Dart, with heedful mind" ?

A) Move slowly with careful mind

B) Make a sudden move but be very careful

C) Do not be careful in rushing out

D) Make a careless sudden movement

Which of the following descriptions exactly defines an open letter ?
A) An envelope which is open
B) Letters of the alphabet which are closed at the top

C) A letter which is not kept sealed

D) A letter which is addressed to an individual, but can be read by everyone

[ Turn over



73.

74.

19..

76.

.

Which of the following is the correct definition for a run on ?

A) Two sentences put together without a fullﬁstop or a connecting word in between
them

B) A sentence with two main clauses
C) A sentence with two linkers
D) A sentence with a finite verb

Pick out the plural form of deer.
A) deers
B) dear

C) deer

D) dears

How many syllables are there in the word 'edification’ ?

A) Five

B) One
C) Six
D) Seven

|dentify the figure of speech employed in the following line.
"Who loves the trees best ?" | said the Spring.
A) Simile

Personification

B)
C) Metaphor
D) Alliteration

Pick out from the following sentences the exact opposite of "The street was crowded".

A) The street was deserted

B) The street was packed
C) The street was so noisy

D) There are so many people moving in the street




8.

79.

80.

81.

82.

83.

Pick out the correct sentence.

| herd the noise made by the running heard

A)

B) |herd a heard racing past in the vally

C) |heard the noise of the fast approaching herd
D) I herd the pounding noise of the heard

Choose the correct expansion of the abbreviation ZSI.

A)

Zoo Summit International
Zion School of Intelligence

Zoological Society of Ireland

Zoological Survey of India

Choose the correct meaning of the word 'canner’.

A)

A person who is very optimistic

B)

A person who preserves things in containers for sale

C)
D)

Which of the following sentences means "My Apologies" ?

A)

A very rare bird

A person who uses sticks

| am glad'to meet you

B

| am very sorry

)
C)
D)

| am fine

My sincere thanks to you

My favourite flower is rose.

A)

a B) the C) an

A verb which does not take an object is

A)

Intransitive verb B) Adverb -

C)

Transitive verb D) Proverb

D)

this

[ Turn over



84.

85.

86.

87.

88.

89.

90.

If | a fish, | would swim.

A) was

C) were

He received blow blow.

A) on
C) in

Be + main verb + ing form is
A) Simple
C) Past

Identify the sentence pattern.
Computer keeps children busy.
A) SVIODO

C) SvOC

Which among the following is not associated with 'Punctuation' ?

A) Full stop

C) Conjunction

B)
D)

have

B)

for

tense.

of

Continuous

D)

B)
D)

B)
D)

Perfect

SVOA
SVCA

Apostrophe
Hyphen

Choaose the correct word for phonetic transcription.

193 : 1|
A) goal
C) glow

B)

glum

D)

girl

Frame question for the following sentence.

| go to the market twice a week.

A) How long do you go to the market ?

B) How much do you go to the market ?

C) How often do you go to the market ?

D) How many do you go to the market ?




ugs— IV

PART - IV

& 6wl & LD
MATHEMATICS

@ riu@Suie 30 alerrssar o drarer. 2|eTS G| AIN6TTS % 655G LD aflent _wellds Garenr(pHLb.

There are 30 questions in all in this Part. All questions are compulsory.

91. 1,1,2,3,5,8,13,21... eretp Qg r_Meir 9y HS 2. myL1y

A) 29 B) 26 C) 31 D). 34
The next term of the series 1, 1,2, 3,5, 8, 13, 21...
A) 29 B) 26 Cl D) 34
92. 67067 2_L_cir ergenans oL L (Lp(p mﬁa’saswn@_:_b ?
A) 14 B) Y. Clad D) 28
What should be added to 67067 to make it as a perfect square ?
A) 14 B) 21 C} D) 28
2078
93.
LIS 86 2_6Tan FLoL14:a (Lpd& Bsrewrmisefler QLong s LTl
A) 12 Qa2 B) 3 Qs® C) 143 Qa2 |D) 12./3 Qs
2cm
The total area of the equilateral triangles of the diagram is
A) 12cm?2 B) .3cm? C) 14./azcm? D) 12./3cm?
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94.

95.

96

97.

85 18 Barpib, 45 18 yFeLpLd Qe saupplev euesesnTd i1 .enﬁa;@ ¥ 8.80 afs1b
24,&LD GClorss GClaewey

[A) z33,660 B) 33,600

C) 43,660 D) 27,660

The cost of painting a wall of length 86 m and breadth 45 m at the cost of
¥ 8.80 per sq.m. is

A) 33,660 B) ¥ 33,600

C) 43,660 D) 27,660

50 worewsreuriaefler gme 1@ LG LT 4561e0s Sewra Gl Ui L gi. (Terenrd3 eraLig)

saupIswns 73 eran 1RSS5 Oarereriiu L g, CsMBss erefled gl wmesr ggrad

A) 44 B) 44.1 C) 44.4 D) 445

The mean marks of 50 students was found to be 45, iatgr on it was found a score of 43
was misread as 73 then the correct meanis

A) 44 B) 44.1 C) 44.4 D) 445

soareurd 15, 2012 et gy @hrufppis & pevio areflev womiig 15, 2012 eresrLigy

A) Bmser B) alwmper
C) OGeusrafl D) yser
January 15, 2012 was Sunday then March 15, 2012 was

A) Monday B) Thursday
C) Friday D) Wednesday

P J@g&@sﬁ@m@aﬂi; Berib 5./ GFL erafleh 9y Beir LGS laTay

S
A) 5 Q&b B) 10 Q&8 C) [z Oas D) 10v2 Qo8

If the length of the diagonal of a square is 5-/2 cm then the length of the side is

5
A) 5cm B) 10cm C) Jzem D) 1042 cm



98. Uaresmeuaraummier LIgT eretar
A) 156 B) 187
C) 289 D} 373

The prime number of the following is

A) 156 B) 187
C) 289 D) ..173
99. 4 1595 Q&18, 9 1 woHmib 16 18 656518 P Bermisener sNwns ojaéss Fnigw
LO& Q) LMw Berd
A) 35 Q&8 B) 45645
C) 55G6&8 D) 65 Q&8

The greatest possible length which can be used to measure exactly the lengths 4 m
95cm,9mand 16 m65cm ' '

A) 35cm ' B) 45 cm
C) 55cm D) 65cm

100. 1.75, 5.6, 7 sy @weuppleir 6. Qim. @
A) 0.07 _ B) 0.7
C) 35 _ D) 0.35

H.C.F.0f1.75,5.6, 7 is
A)0.07 B) 0.7
C) 3.5 D) 0.35

101. 'S'erenp e11p8 B 6 5i1p P 5 G rawsiLb

A) 90° B) 180°

C) 270° D) 360°

The angle of rotation of the letter 'S’

A) 90° B) 180°

C) 270° D) 360°
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102.

103.

104.

@y augLideyerar 40 wrewreuisefar gpnad erenL. 42 &).%). <eieuGLiL) fMwir
sranL_uflenasrijb Gariggnev spneMl oHaMs@ g erefiey 9bs I Mwdereren_____ &).§).

A} BT  B) 75
C) 83 D) 84

The average weight of 40 students in a class is 42 kg. If the class teacher's weight is

included then the average is increased by 1 then the weight of the teacher is kg.
A) 80 B) 75

C) 83 - D) 84

sasfileul_1guilev 8% a1y ai5sHev FareIg) 24T (B HeTe) pLpeTm)
LDL_J‘EJ'&;JT@L.D.

A) 15 | B) 25

C) 20 D)l Y

The principal triples at the rate of 8% per annum Slin years.

A) 15 B)f 25

C) 20 D) 10

50D 16 FaDB] 1S ?
A) Qw @;uev 616U 6V 63T I (1B GV 6D (1 () UGV GTEHT 3, (LD
B) @ wpuyp erantsaflair G)Lihdsm LIGUET (5 (LP(LP GTEHT ), &LD

C) @) 0995 pp cT6v1% 6 6H Fn (DB 6D H(1h mﬂ@g,@pmm%@m

D) & al®swpns wpnib a9F ST 616885 M6 dn (HS6 (5 @I %1% (LODIT GTEHT ), Lb
Which is the wrong statement ?

A) Sum of two natural numbers is a natural number

B) Product of two whole numbers is a whole number

C) Sum of two irrational numbers is an irrational number

D) Sum of a rational and an irrational numbers is an irrational number



105.

106.

107.

1—9-657611&3';&; GULD
16 - ol

3 2
1— e
A) A B) 3
1 1
= ; A
C) 4 D) 4
The square root of the number 1%
3 2
1= =
A) 4 B) 3
B | ' 1
2— 1—
ol D) I
B1p& &GO QUM MIGT H6UDIGT Fn DM 6T 9
A) 1088 =110 B) 1QLf83=1a9
C) 1u8=100a9 D) 1000 Q& = 148
Which of the following is wrong ?
A) 1cm3=1mi B) 1 decim3=1{
C) 1me=1001 D) 1000cm3 =11

DBEP NG NSEFNPW eTenrentien (Lpairesfld @b, 5%&1@@35& &Gl LuMw eressresslesr
O g mL_Mg@Lb 2_siter a9% B wnFLb

A) 100 B) 1000
C) 10000 I

The difference between the predecessor of the smallest five digit number and the
successor of the largest four digit number is

A) 100 B) 1000
C) 10000 D) .1
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108. wHLUY srews 1+[1+1+[1+1+(1+1=2)]]

109.

110.

1 5
A) > B) 8
8
C) 5 D) 2
Find the value of 1=[1+1+[1+1=(14+1+2)]]
1 )
e ®) 3
8
O '% D) 2
B,
V3=1.782 erafled = = |
A) 5.196 “B) 1.732
C) 0.543 D) 0.732
1
If \E =1.732 then 7?; " Correct Answer: 0.577
A) 5.196 B) 1.732
C) 0.543 D) 0.732

07 : 15 @p.u. ap@Lb 09 : 03 9. 1. aflD @b 2_airer Gy @)enr_Glavaf
A) 2w12 3 B) 1w48 p

C) 13w48 @ D) 1448

The time difference from 07 : 15a.m.to 09 : 03 p.m. is

A) 2h12m B) 1h48m

C) 13h48m D) 14h48m




1.

Bte,

3.

7x5462 eresip e1anr9 gy,60 LBF ufeiH) 6@ LIBLD TaIGOX T BEDBESLILF LoBLIL]

The least value of x for which 7x5462 is exactly divisible by 9 is

6 B) 3

9 D)

A) 6 | ' B) 3

s Bl 7

72 + 82 + 562 =

A) 612 B) 592
C). 572 D) 632
72 + 82 + 56° =

A) 612 B) 592
C) 572 D) 632

senfla GLoens s allail F&&STe TS5

A)
B)
C)

FGHFm Bz all

@an oot

REERED )

D)

&ITeN

The emperor of Mathematicians

A)
B)
C)

Sakuntala Devi
Ramanujar

Pythagorus

D)

Gauss
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114.

115.

116.

ﬁso
X
130°

LIL_& )60 X6 Lo By
A) 60° B 115"
) 55" B  130%

ﬁs_ﬂ
X
130°

The value of x in the diagram
A) 60° B) 115°
C) : 55° D) 130°

A) 14 B) 3 C) 2 e - S8

1 1
If X+—=2 then X* +— =
X X

A) 14 B) 3 C)y 2 D) 1

em&r X 12 afgb 6 g fers@sd, T 3.50 afsd 12 9 rEhasEsd aurm@ermer.
senL&&5ngiL_bI 200 OsrBSsm60 LB eunmis Geusssiig w G rens

A) T114 B) ¥98

C) %86 D) %102

Sankar bought six apples at the rate of ¥ 12 and 12 oranges at the rate of ¥ 3.50. He
gave X 200 to the shopkeeper then the balance he has to get is

A) T4 B) 98

C) 286 R | Wk 12




%Y.

118.

118.

120.

48 et & iy ewstl s 61 63T GTeNITGwNT & e
A) 12
C) 48

The number of factors of 48 is
A) 12
C) 48

5 O\ B mewr @a%@asrrsﬁrﬁ@sb (5 Gaanrin55° erexfled wpp Cumenrid

A) 55°

C) 35°

In a right angled triangle If one angle Is 55° then the other angle is
B) |

A) 55°

C) 85°

B)

124

D)

8

B)

124 -

D)

8

B)
D)

D)

(p 605 (Lp(p sredra ofl et s s o T i (535 60

A) 31
C) 55

Sum.of squares of first 5 whole numbers Is
A) 31
C) 55

wpse 10 @ wed ereweaflesr ayme

A) 5.5

C) §

The average of first 10 natural numbers Is

A) 65

C) &

f~

100°
45°

100°

45°

B)

30

D)

29

B)

30

D)

B)
D)

B)
B)

29

4.5
8.5

4.5
sfs

[Turn over



uss =V
PART -V

GLpplere ymladlue
EVS

Q1B ullev 30 aflesrigser o_ereres. el allanTssend @b alleant_welss GauerBlLb.

There are 30 questions in all in this Part. All questions are compulsory.

121. @ uWerugnsm BrC_enL_& Gaipseu.
A) QuminsCGsin B) @Lmar
C) Gumriésse D) ev@uuies
Ibn Batuta belongs to country.
A) Morocco B) Sudan
C) Portugal D) Spain

122. se_doms srews B pe wpeararGr g maslw ()evssewr rev
A) gewIiy WevEISTFLD B) meranrev

C) Osmrewsmnuib D) wrli@uriseid

The Tamil literature originated before the Third Sangam was
A) Thandiyalangaram B) Nannool

C) Tholkappiam D) Yapperunkalam

123. @wilwafler oG serale sremriLIGIb aryy

A) LBsCger B) emami gggeir
C) <yisner D) sy dedisgesr
A gas found most in the sun is

A) Methane B) Hydrogen
C) Organ D) Oxygen




124. GlganGop© Lu@eussTDDI Blenad: @ (@) eRTIITE 2@ LD S| GT6T LGS ET

A)  yrauevald) B) ansyor

C) ap@Swm D) ewssmevr

The mountain which lie parallel to the direction of the Southwest Monsoon wind is

A) Aravali B) Satpura

C) Vindhya D) Maikala range

125. Ggulenev, smul, @oiiui, erg wppib wps@M Guispeana SLONPIBITL 196V QUG (LD

LuSgm@Lb.
A) o cwey | " B) @
C) Gsmlrd | D) wppuui
Tea, Coffee, Rubber, Pepper and Cashew are 4 crops in Tamil Nadu.
A) Food " B) Fibre
C) Plantation . D) Non-food

126. girw i ereirug) @ Gt @B e eant’ gepeir P 2yéedser sk erar Hlanp
a9&)% b

A) 11.19% wpmib31.81%

B) 11.19% wopm1b88.81%

C) 88.81% wpmb11.19%
D) 33.81% wopmyp11.19%

Pure water is a compound it contains hydrogen and oxygen at the mass ratio of

A) 11.19% and 31.81%

B) 11.19% and 88.81%

C) 88.81% and 11.19%
D) 33.81% and 11.19%
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127.

128.

129.

130.

92U238 etei g0 CanGLmiifed o_airar BluyL” greirsafl 6t cravrentls e s

A) 330 B) 92

C) 238 - D) 146

9EUEG‘8 in this isotope, the no. of neutrons is

A) 330 B) 92
C) 238 D) 146

20° C Qauiglenavuilad ffled CuSO 4 ~eir sen g peir
A) 36 &gmb B) 20.90 &ymb

C) 20.7 &y D) 70.2 &ynwo

Solubllity of CuSO, InH,0at20°C Is
A) 36 grams B) 20.90 grams

C) 20.7 grams - _D) 70.2 grams

@ Banefieir o1 giflenp 16, epaudianpl Blenpa8 eraflch 9%t ) gRisL" (B e16dm

Find the atomicity of ozone If its atomic mass is 16 and its molecular mass is 48.

A) 3 | B) Y

& N ; D) None

ApiGant. (s Heme CauadB D@ CaremgBes GauadBHGba drar Qm i
A) V=ro B) V=ro

C) r=Ve - D) o=V0

Relation between linear velocity and angular velocity Is

A) V=rg | B) V=ro

C) r=Vao D) m=Vo



131.

132.

133.

gtﬂuﬂsﬁ Blevewresnsns @)evene.

A} 5@6‘]}!.5 B) 6‘6‘)50013[_'1
C) seusd D) GuwGer®
The of the earth is not stable.

A) Core B) NiFe

C) Mantle D) Crust
SLONPBITL. 19.651 HTevEleney QUGNS GOIF FITIT[H S S -

A)  jwer e _GVLD ; B) g6 wesst_euib
C) sauliugs D) ainéued
Tamil Nadu has climate.

A) Tropical B) Temperate
C) Polar D) " Aretic

@)BS w weslueT HmILh L wWIH 6T SePevau T

A)  FunsTwusF

B)

C) wuwrssoear D)

The head of the Indian Republic and Union is

A) Speaker

C) President

B)
D)

134. plev garay o iLem_ufed ‘@sgmny_m@e&r

A)  @uewr_reug)

C) apraug

India is the

B)
D)

A) Second

C) Seventh

B)

&9 W TF: 5| OIS HEHGUG T

2.6¢ bLoai hBILIG)

Vice President

Supreme Court Judge

Ouflw pr_nss BspEms).
BbSIUS

GTL_L_TeU%)

largest country in the world.

Fifth

D) Eighth
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135. 1®isL 5 sanewal[hs @ 2 ellsasLILIL B eTeT I bSevS

A) amier.. e LodFT B) Q@ eenrgewsst

C) wrklev yemda D) yemindsFrenel 2emLnFFm

The opposition party leaders will be given the status of a

A) Cabinet Minister B) Deputy Minister

C) Minister of State D) Council of Ministers

136. @pBwraled B L Cprseams ST (HLb IgWI$519.&TTLD euUssLILIL BI6TeT Q) LD

A) @pLbemLs B) Glearenas

C) ysgiBseved D) Gsrevsgst

In India the time standard is provided by Atomic clock kept at
A) Mumbai B) Chennai
C) New Delhi D) Kolkatta

137.  woy &Tom 4mPe PVSH DS @@ THESIFSTL (B
| A)  sTHDI DD B) i pmev
C) whwynped D) 2 ifengllsnss

Non-conventional sources of energies' one example is

A) Wind energy B) Hydro power

C) Solar energy D) Bio-mass

138. Gamerf QL& Tre eTaTLIGUT LIDBS 34,68 (H)
A) 1852 B) 1745
C) 1791 D) 1956

Henri Becquerel was born in the year
A) 1852 ; B) 1745
C) 1791 D) 1956




139. Gu@nsle gimi@ L6t (wperen)Lb LN6Tay)Lb a9 (Lp61S 65T & TTeRTLD
A)  Quus epemer @uialed @) LILIST6D

|

B) P epemerguialed @) hLiLsmen

C) w@arnbdguialew @)@BLiLSTD
D) powLy wes_evib uialley @)FLiLgmew

A man who is sleeping in the bus sways his head to and fro because

A) the cerebrum is at rest

B) the cerebellum is at rest

C) the medullais at rest

D) the nervous system takes rest

140. pevafi o e e o OB &I @)(bhSI 506 LILI WD, LITeYTL 19 HafeT @)IS5LD
: 2 PSS Fen L O\FuiuyLd CVBTS), B LpsHevsT_upDIaTesl ?

A)  GeaureneeT B) wygemerer C) emswibesr D) adlmiger

This is a naturally occurring protein present in the salivary glands of Leeches that has
a blood anti-coagulant.property

A) Guanine 1 B) Adenine C) Thymine D) Hirudin

141. Q) n%wuneller @)@LbL] el T aTeT eLpdsLIIL L aurt

A)  Qevwmris

B) eaignieucvevum uGrLev

C) smest 9L1gI60 STLIT HT6HT

D) sasrumd GperGymgl)

was (':alled_ the 'lron Man of India'.

A) Bismark

B) Sardar Vallabhabai Patel
C) Khan Abdul Gafar Khan
D) Dadhabai Naoroji

B| , [ Turn over




142.

143..

144.

145.

FerLs 1w essf] W) 6LTeHT F6u TR GT(LY B LI LI GOT BTGV

A) amrey FflgLd

C) Syse

B) Q@eungsr

' D) psemeuat

The Travel Book written by the Chinese Traveller Hieun-Tsang was

A) Harsha Charitha

C) Si-Yu-Ki

wadar @) kS wraler adly Qasre

A)  swnehs Freveu s

C) @umegomgmb Grons e gmus

The Herald of New Age in India was

A) Dayananda Saraswati

C) Rajaram Mohan Rai

QBSW @@Ly uTeSUIGHT SHS.
A)  afevaSlwib GLiawmLe s
C) Qeaa@eevad gL

The Father of Indian Railways is
A) William Bentinck
C) Lord Wellesly

B) Indica
D) Rathnavali

B) weresfGlLges

D) ewsws 215105 Snet

B) . Anni Besant
D) - Syed Ahamed Khan

B) sanrger 9oy

D) L ewGlaperd 1y

B) Lord Curzon

D) Lord Dalhousie

CasPwirur_ev “aupGs wrsrsens ' @Qummlwer

A) LT FRISTSHT FevsT

C) vafB@omng sndmir

B) wé@w #5507 F 1L righ

D) GsCeup®rpns sndmit

The National Song 'Vande Matharam' was written by

A) Bala Gangadhara Thilagar
C) Rabindranath Tagore

B) Bankim Chandra Chatterjee

D) Devendranath Tagore



146. &pausLd Len&LILISTG) UIHLD §enLD @/ 6T 6Ten ey &l e (B)enesT (@) cvency
o

1) @swib
2) memguiged

21,175 CGs mev HafGrr&ev

L1551 eoLudley L5855 %1% aT 2_6uTL_ 15356V

3) er@ybLEeT

pavig CunGunGrn®ev
4) Qafgsew Osr@Liy

FADMIF APDEIDEET LITH &S LIRS
A) 2)w4) b B) 1)w3)w
C) 1)wéd)w . D) 1)w2)w

Among the following disadvantages of smoking which are not correctly matched ?

1) Heart - Orthosclerosis

2) Lungs - Bile stones in bile gladder
3) Bones - Osteoporosis

4) Digestive System -  Damage of alveoli

) 2)and4) B) 1)and 3)
C) 1)and4) D) 1)and?2)

147. Qmi@s srisFaet L L @ewensfieow s Ly o uildl, &ps&enTL_eupmn)er
6T '
A)  ermstiladlev O)gma

B) awgevQsrs
C) &

D) &yesev Glsrs

Among the following, which is the carrier of the microorganism which causes dengue
fever ?

A) Anopheles mosquito

B) Aedes mosquito
C) Housefly

D) Culex mosquito

B [ Turn over




148. ogamissLiul L @pplermiser oeveg) b Blenevuiler allaflible 2_erer afleun@ser
LpBlw USesenans QasmeT_ LSS5 @)eIaumn] e pes LG DS

A) Seuliyr yeraflalleurl LSS LD

B) aYevmi@gsaileraugevmmy
C) &ppermigsefer CsmpmLd
D) OGpsess_eupmerergiab @)evene

The source book which keeps a record of all the endangered animals and plants is
A) Red Data Book
B) History of Animals

C) The Evolution of Species
D) None of the above

149. Spsse_auppler 615l LiSILILNEs Q)W evT DD @p@:j@-ﬁbmm 2

A) s B) @umpenseury

C) wrl ®&Fmenrid D) Alevssh

Which of the following is not a non-renewable resource ?
A) Diesel ; B) Natural Gas
C) Cow Dung D) Coal

150. prer@ Senpser Qs @)swib SLpé ST albpIeT cTaIDDISE 2 @6 ?

A)  urTL 19 &6T, LDLILIGT

B) serieuer, upLiLier
C) Brdlev eumpeuast, LipLILIGT

D) wneyrl g &an, earieues

Of the following which group has four-chambered heart ?

A) Mammals, Aves

- B) Reptiles, Aves
C) Amphibians, Aves
D) Mammals, Reptiles




91.

92.

93.

94.

95.

96.

SOLUTION TO TNTET PAPER I Booklet series C

seullg Cuenaseflar esrafsd) sar gmpssiulLe] Sre
CHOICE D

72 +82 + 562 = 49+ 64+ 3136=3249

9 6 (PlpWld (PETEHSSSET aTES eLpauld 7 Zjsbeugl 3 sdlgwd STiLLL elsmLserlsd
&ilwmeorg) 572

CHOICE : C

7x5462 eevTm eTemr 9 9y UGUGILD eTeufled x o7 s &Sl gl

JImaTSg Qeadsnsaflar s (heea Jar LWL KIGTS gmuge el (B

s1eoTG6u 24+x = vt wLmSTEW 27 steorCou X = 3

choice B

_______________________________________________________________________________ A
UL Gdled 115

Z/ABE +/A =180 ( Pair of linear angle) BL =

ZABE = 180 — 130 = 50 -

ZCBE + £C=180° A

Z/CBE =180 -115=65

&g L L Z/ABE + ZCBE = 50+65
x =115

CHOICE B

2
G +i =(x+1j —2=
X2 X
—(2?-2=4-2=2

CHOICE : C

6 g ullsTsefleot ailsmev = 12 x6 =72
12 oyrehs upriseflar efleme = 3.50x12==42
Qurssailme = 114
SH&@asTems = 200 -114 = 86
CHOICE C




97. A48 e snyeuwilser - 2, 3, 4, 6, 8, 12,16,24
Qrsg ereutTenfl&Hma 8
CHOICE D

98. eyem Camemmisesflar s. @0 = 180°
90°+ 55°+ x= 180°
X =180° - 145° = 35°
CHOICE : C

99. (s 5 W et satlerT sufSamigertler
& (&6 02412422432+ 42 =0+1+4+9+16=30
CHOICE : B
nin+1) _10x11_
g 2
67600t Seiflett &n (Hgsd _ 55 _
6TeunT 6mONlEh 60 10

100. (a0 10 @uwebd sTeuvrsetlenT &n(hiGHed =

Y36 10 Quedetemasafler armafl =

CHOICE : A

101. S6eUMTeT & Mmm)
100 18°= 100 &
CHOICE C

102. sndlevss assSm erewr 10000 et (pevtenf] — 9999(mrautdlevdas GLiflw stevr)
Erardlods Guflw sawr(9999) et GamLfl _ 10000( mndleds Fnlwereo)
allgdlure =10000 -9999 = 1
CHOICE D

103.
1+f+1+[1+1+A+1+ 2)]]=1+{1+1+[1+1+[1+%J]}

=1+ _1+1+[1+1+[§J]} =1+{1+1+[1+[§M

=1+ l+l+§}:l+{l+§}:§
3 5 8

CHOICE : B




104.

105.

106.

107.

108.

109.

J3=1732

1_ 3 17
V3 (V3)(W3) 3

Qar@ssiu’L allmLsar 9marsgild Semnd 2 6 erg)

=0.5773

Qar@ssiu’L Crrgsms @ruiloGa Grromrs wrnmmnis
@.u 7.15 — 07.15 wewf]
dlu 9.03 -- 21. 03
Crr eflddursnd = 20.63 -7.15 = 13.48 = 13 wewfl 48 ELblLLb
CHOICE :C
spaureuifl 15, 20128Ld Lmijd 15, 2012 SELd @eLlLLL BT S6t= 60
SOy — 2012 oSt oyemi® ereorGeu Lllireaufl 29 Bl saf
60 & 7 91,60 UG W 4 B ser
gliisar . Qeaieuml , Uger , ellwumpet eearGe praismrag mrar alumpsiCHOICE :

FgIrSdlet epemeall b d ereufled FHew LSS eTey a=——

5V2 =5@&Lf

eTeuT@ou g ="V
2

CHOICE A
Lleut (LT euMmIeT LIS 6TemT 173
CHOICE D
4.95 16, 9 1f, mmid 16 .65 f gy Sweumdlest L8.GLT.ou SewrsEl gsioataflamw
bl Qe wdliurs LrHnIs
495cm, 900cm, 1665cm
smyeue§] (pemmulled
495 = 5x3x3x11
900 = 5x5x3x3x2x2
1665 = 5x3x3x37
Qurgsamrenflser = 5x3x3 = 45cm
CHOICE : B




110. 1.75, 5.6, 7 gy dweundler 15.QuT.eu sl sawliyeiaflomw pas
175, 560, 700 sTeur LOTMDIS
smyeue§] (pemmulled
175 = 5x5x7
560 =5x2Xx2x2X2x7
700 =7x5x5x2x2
QurgissmyenflEder = 5x7 =35.
175, 560,700 gy lweumplet L8.@um.eu 35 ererGeu
1.75, 5.6 , 7 gy Sweunlesr 1f.GLm.eu = 0.35
CHOICE : D

111. S aeip arSdler syndl aufleme 2 srerGeu argg,r_f].sﬂa's(Basrrsmmb:s“%o:180o

CHOICE : B

112. 40 wrewreufseflet sten = 40 x #gwafl etem = 40 x42 = 1680 kg
S FflwmLaT Qurss aemL. = 41 x (42+1) = 41x43=1763kg
o, Eflwiflet stemL = 1763-1680=83 kg
CHOICE : C

113. seaflauliguiled @ GOHOILL GaTmen WLEISTS @G STeLd nr_1x100

6TeTGau ePGITDI LILBISTE Y (@GLD STeuLd 3glxlOOzzgoz 25 gy, 6uoT (D) ST

CHOICE : B

114. S6uUMTET SnMm)
@\ eldlsynr aemiseflar & B e aldlgswymnr e o9 @WCHOICE : C

115. 12 & e ge == |22 =2
16 16 4
CHOICE : D
116. 1,1,2,3,5,8,13,21
@g JiGarrd] suflms aarGou HSS oTemwT HSNES WHMSW G
2 il sefled s @0 =13 +21 = 34
CHOICE : D




117. 67067 2 L6 6TSHMEIT&E:En LL (L) eUTESLONGLD 258

258a SIBSS w259 @i (pgeufésih = 67081 o 67067
&L L GeueuuTigww eTemet 67081- 67067=14 4
CHOICE :A 45 T
--------------------------------------------------------------------------------- 225
118. uLgdled 2 aier LSS (pSCaTamTEISafleT LTy 508 ‘4567
f 2153 2 _ 3084
12 suuss Wstasramrmsear = 12~ —a<=12"— (2) =123 503

CHOICE : D
119. seaummlet ugly = erd x g sewh = 8518 x 45 1f = 3825 1f®

sUGTTGITLD S g Gl Gseve) = LTI X @ SEITULL GSsTar QsTms

= 3825x8.80 = Rs. 33,660

CHOICE : A

120. eflurar & HFH = SUMTET Fo(HSH60 - SHEUMT6T 6T6UT+ SFILIT6UT 6TevoT
= 50x45 - 73 +43
= 2250 -30 =2240

Fflwmrer eyrafl = S & Gge _ _2220 —44.4

6T600T 60071 & 60 & 50

CHOICE C









